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from math import *
from random import *

totals = [0] *11

BEBYEEA. trials = int(input("# of trials?"))
for i in range(trials):
die1 = randint(1,6)
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import ti_plotlib as plt
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totals[sum-2]=totals[sum-2]+1
print(totals)
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from math import *
from random import *
import ti_plotlib as plt

totals = [0] *11
trials = int(input("# of trials?"))
for i in range(trials):
die1 = randint(1,6)
die2 = randint(1,6)
sum = die1+die2
totals[sum-2]=totals[sum-2]+1
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totals = [0] *11
trials = int(nput("# of trials?")

for i in range(trials):
diel = randint(1,6)
die? = randint(1,6)
sum = diel+die2
totals[sum-2]=totals[sum-2]+1
print(totals)

sums=[2,3,4,5,6,7,8,9,10,11,12]

1.2 m *USSB1 di.lot

A *dice.py
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die1 = randint(1,6)

die2 = randint(1,6)

sum = diel+die2

totals[sum-2]=totals[sum-2]+1
print(totals)

sums=[2,3,4,5,6,7,8,9,10,11,12]

plt.window(-5,15,-10,1000)
plt.axes("on")
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sums=[2,3,4,5,6,7,8,9,10,11,12]
pltwindow(-5,15,-10,1000)
plt.axes("on")

plt.scatter(sums,totals,"0")
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